BIDDER SUMMARY SHEET

ITB #25-013
145th Place Sidewalk and 82nd Avenue E. Ditch Improvements, Construction

Business Name: 64M Cement	Construction
Street Address: 58 W. Connes	cial br
City, State, Zip: Addison IL	6010 [
Contact Name: Nick Vavalle	
Title: President	
Phone: 630 628-6208	Fax: 630 628-6209
E-Mail address: Nickgmeement	zyahoo com
<u>Prio</u>	ce Proposal
145 th Street Sidewalk (North side)	\$ 272,060.00
145 th Street (South side)	\$
82 nd Avenue E. Ditch	\$ 229,625.00
GRAND TOTAL BID PRICE	\$ 808, 165.00
	All Addendums have been recieved Addendums 1-4
AUTHORIZA	TION & SIGNATURE
Name of Authorized Signee:	Varable
Signature of Authorized Signee:	
Title: President	Date: 4 08 2025

Unit Price Sheet

ITB #25-013 145th Place Sidewalk & 82nd Avenue E. Ditch 145th Place Sidewalk (North Side)

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

SP	NO.	IDOT SECTION	DESCRIPTION	UNIT	QUANTITY	U	NIT PRICE	Cost
	1	201	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	10	\$	65.00	\$ 650.00
	2	201	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	20	\$	85.00	\$ 1,700.00
	3	201	TREE ROOT PRUNING	EACH	9	\$	200.00	\$ 1,800.00
	4	211	TOPSOIL FURNISH AND PLACE, 4"	SQYD	1300	\$	4.00	\$ 5,200.00
*	5	213	EXPLORATION TRENCH, SPECIAL	FOOT	50	\$	85.00	\$ 4,250.00
	6	250	NITROGEN FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	7	250	PHOSPHORUS FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	8	250	POTASSIUM FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	9	252	SODDING, SALT TOLERANT	SQYD	1300	\$	25.00	\$ 32,500.00
	10	252	SUPPLEMENTAL WATERING	UNIT	80	\$	20.00	\$ 1,600.00
	11	280	INLET AND PIPE PROTECTION	EACH	1	\$	500.00	\$ 500.00
	12	280	INLET FILTERS	EACH	7	\$	200.00	\$ 1,400.00
	13	311	SUBBASE GRANULAR MATERIAL, TYPE A 4"	SQYD	1020	\$	7.50	\$ 7,650.00
	14	311	SUBBASE GRANULAR MATERIAL, TYPE B 2"	SQYD	85	\$	10.00	\$ 850.00
	15	355	HOT-MIX ASPHALT BASE COURSE, 6"	SQYD	35	\$	165.00	\$ 5,775.00
	16	402	AGGREGATE FOR TEMPORARY ACCESS	TON	80	\$	30.00	\$ 2,400.00
	17	406	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	4	\$	550.00	\$ 2,200.00
	18	423	THOSE SERVICE CONCRETE DRIVEWAT PAVENIENT, O	SQYD	85	\$	150.00	\$ 12,750.00
	19	424	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQFT	6550	\$	19.00	\$ 124,450.00
177	20	424	DETECTABLE WARNINGS	SQFT	10	\$	60.00	\$ 600.00
	21	440	DRIVEWAY PAVEMENT REMOVAL	SQYD	180	\$	22.00	\$ 3,960.00
	22	602	MANHOLES TO BE ADJUSTED	EACH	5	\$	1,200.00	\$ 6,000.00
*	23		COMBINATION CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	15	\$	150.00	\$ 2,250.00
*	24	7	PAVER DRIVEWAY REMOVAL	SQYD	70	\$	25.00	\$ 1,750.00
*	25		PAVER DRIVEWAY	SQYD	50	\$	175.00	\$ 8,750.00
	26	202	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CUYD	50	\$	90.00	\$ 4,500.00
	27	280	TEMPORARY EROSION CONTROL SEEDING	POUND	50	\$	10.00	\$ 500.00
	28	671	MOBILIZATION	L SUM	1	\$	25,000.00	\$ 25,000.00
*	29	701	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L SUM	1	\$	10,000.00	\$ 10,000.00
*	30		WASHOUT BASIN	EACH	1	\$	3,500.00	\$ 3,500.00
*	31		CONSTRUCTION LAYOUT	L SUM	1	\$	5,500.00	\$ 5,500.00
				17	*GRAND TO	TAL	BID PRICE	\$ 278.060.00

*=Special Provision item Proposer shall add other items relevant to the project as necessary. Please enter Total Cost on Bidder Summary Sheet

Proposer: Nack Vavall &

Firm Name: G&M Cement Construction

Signed: Title: Plant to B | 2025

Unit Price Sheet - AMENDED

ITB #25-013 - 145th Place Sidewalk & 82nd Avenue E. Ditch Improvements, Construction 145th Place Sidewalk (South Side)

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

SP	NO.	IDOT SECTION	DESCRIPTION	UNIT	QUANTITY	UN	IT PRICE	Cost
	1	201	TREE ROOT PRUNING	EACH	6	\$	200.00	\$ 1,200.00
	2	211	TOPSOIL FURNISH AND PLACE, 4"	SQYD	1,500	\$	4.00	\$ 6,000.00
*	3	213	EXPLORATION TRENCH, SPECIAL	FOOT	50	\$	85.00	\$ 4,250.00
	4	250	NITROGEN FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	5	250	PHOSPHORUS FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	6	250	POTASSIUM FERTILIZER NUTRIENT	POUND	25	\$	1.00	\$ 25.00
	7	252	SODDING, SALT TOLERANT	SQYD	1,500	\$	25.00	\$ 37,500.00
	8	252	SUPPLEMENTAL WATERING	UNIT	90	\$	20.00	\$ 1,800.00
	9	280	PERIMETER EROSION BARRIER	FOOT	110	\$	45.00	\$ 4,950.00
	10	280	INLET AND PIPE PROTECTION	EACH	1	\$	500.00	\$ 500.00
	11	280	INLET FILTERS	EACH	5	\$	200.00	\$ 1,000.00
	12	311	SUBBASE GRANULAR MATERIAL, TYPE A 4"	SQYD	1,000	\$	7.50	\$ 7,500.00
	13	311	SUBBASE GRANULAR MATERIAL, TYPE B 2"	SQYD	70	\$	10.00	\$ 700.00
	14	355	HOT-MIX ASPHALT BASE COURSE, 6"	SQYD	115	\$	165.00	\$ 18,975.00
	15	402	AGGREGATE FOR TEMPORARY ACCESS	TON	60	\$	30.00	\$ 1,800.00
	16	406	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	13	\$	550.00	\$ 7,150.00
	17	423	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6	SQYD	70	\$	150.00	\$ 10,500.00
	18	424	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQFT	6,400	\$	19.00	\$ 121,600.00
	19	424	DETECTABLE WARNINGS	SQFT	20	\$	60.00	\$ 1,200.00
	20	440	DRIVEWAY PAVEMENT REMOVAL	SQYD	240	\$	22.00	\$ 5,280.00
	21	440	COMBINATION CURB AND GUTTER REMOVAL	FOOT	60	\$	10.00	\$ 600.00
*	22		COMBINATION CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	60	\$	140.00	\$ 8,400.00
	23	202	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CUYD	50	\$	90.00	\$ 4,500.00
	24	280	TEMPORARY EROSION CONTROL SEEDING	POUND	50	\$	20.00	\$ 1,000.00
	25	671	MOBILIZATION	L SUM	1	\$	35,000.00	\$ 35,000.00
*	26	701	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L SUM	1	\$	10,000.00	\$ 10,000.00
*	27		WASHOUT BASIN	EACH	1	\$	3,500.00	\$ 3,500.00
*	28		CONSTRUCTION LAYOUT	L SUM	1	\$	5,500.00	\$ 5,500.00
					*GRAND TO	TALE	BID PRICE	\$ 300,480.00

*Please enter Total Cost on Bidder Summary Sheet

*=Special Provision item Proposer shall add other items relevant to the project as necessary. Proposer: Nick Vavalle

Firm Name: GAM Cement Construction

Signed: President

Dated: 4/08/2025

Copy

Unit Price Sheet

ITB #25-013 - 145th Place Sidewalk and 82nd Avenue E. Ditch Improvement, Construction 82nd Avenue E. Ditch Improvements

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

SP	NO.	IDOT SECTION	DESCRIPTION	UNIT	QUANTITY	U	NIT PRICE	Cost
-	1	202	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	50	\$	90.00	\$ 4,500.00
	2	208	TRENCH BACKFILL	CUYD	10	\$	50.00	\$ 500.0
	3	211	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	1,500	\$	4.00	\$ 6,000.0
*	4	213	EXPLORATION TRENCH, SPECIAL	FOOT	100	\$	85.00	\$ 8,500.0
	5	214	GRADING AND SHAPING DITCHES	FOOT	530	\$	35.00	\$ 18,550.0
	6	250	NITROGEN FERTILIZER NUTRIENT	POUND	20	\$	1.00	\$ 20.0
	7	250	PHOSPHORUS FERTILIZER NUTRIENT	POUND	20	\$	1.00	\$ 20.0
	8	250	POTASSIUM FERTILIZER NUTRIENT	POUND	20	\$	1.00	\$ 20.0
	9	252	SODDING, SALT TOLERANT	SQ YD	1,500	\$	25.00	\$ 37,500.0
	10	252	SUPPLEMENTAL WATERING	UNIT	90	\$	20.00	\$ 1,800.0
	11	280	TEMPORARY EROSION CONTROL SEEDING	POUND	30	\$	20.00	\$ 600.0
	12	280	TEMPORARY DITCH CHECKS	FOOT	120	\$	30.00	\$ 3,600.0
	13	440	PAVEMENT REMOVAL	SQ YD	90	\$	22.00	\$ 1,980.0
	14	501	PIPE CULVERT REMOVAL	FOOT	172	\$	30.00	\$ 5,160.0
*	15	542	REMOVE EXISTING FLARED END SECTION	EACH	3	\$	425.00	\$ 1,275.0
	16	542	PIPE CULVERTS, CLASS A, TYPE 1 12"	FOOT	24	\$	205.00	\$ 4,920.0
	17	542	PIPE CULVERTS, CLASS A, TYPE 1 15"	FOOT	172	\$	215.00	\$ 36,980.0
	18	542	TRECAST REINFORCED CONCRETE FEARED END SECTIONS	EACH	3	\$	4,000.00	\$ 12,000.0
	19	602	CATCH BASINS, TYPE C, TYPE 8 GRATE	EACH	1	\$	5,000.00	\$ 5,000.0
*	20		REMOVE AND RE-ERECT EXISTING SIGN	EACH	1	\$	500.00	\$ 500.0
	21	671	MOBILIZATION	L SUM	1	\$	30,000.00	\$ 30,000.0
*	22	701	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	L SUM	1	\$	15,000.00	\$ 15,000.0
*	23		CLASS D PATCH, MODIFIED	SQ YD	80	\$	165.00	\$ 13,200.0
*	24	X	SURFACE PATCH	SQ YD	90	\$	90.00	\$ 8,100.0
*	25		CONNECTION TO EXISTING DRAINAGE STRUCTURE	EACH	1	\$	1,900.00	\$ 1,900.0
*	26		WASHOUT BASIN	EACH	1	\$	3,500.00	\$ 3,500.0
*	27		COMBINATION CURB AND GUTTER REMOVAL AND REPLACEMENT	FOOT	20	\$	150.00	\$ 3,000.0
*	28		CONSTRUCTION LAYOUT	L SUM	1	\$	5,500.00	\$ 5,500.0
					*GRAND TO	TAL	BID PRICE	\$ 229.625.0

*Please enter Total Cost on Bidder Summary Sheet

*=Special Provision item Proposer shall add other items relevant to the project as necessary. Proposer: Nick Vavalle

Firm Name: GRM Cement Constitution

Signed: Product

Dated: 4/08/2025

(10 b)

1



Bidders shall complete this Certificate of Compliance. Failure to comply with all submission requirements may result in a determination that the Bidder is not responsible.

Th	e undersigned NCK VUN a 11e,
	(Enter Name of Person Making Certification)
as	
	(Enter Title of Person Making Certification)
an	d on behalf of GAM Cement (Construction)
	(Enter Name of Business Organization)
cei	tifies that Bidder is:
1)	A BUSINESS ORGANIZATION: Yes [4 No []
	Federal Employer I.D. #: 36 3869094
	(or Social Security # if a sole proprietor or individual)
	The form of business organization of the Bidder is (check one):
	Sole Proprietor Independent Contractor (Individual) Partnership LLC
	Corporation
	(State of Incorporation) (Date of Incorporation)
2)	STATUS OF OWNERSHIP
	Illinois Public Act 102-0265, approved August 2021, requires the Village of Orland Park to collect "Status of Ownership" information. This information is collected for reporting purposes only. Please check the following that applies to the ownership of your business and include any certifications for the categories checked with the proposal. Business ownership categories are as defined in the Business Enterprise for Minorities, Women, and Persons with Disabilities Act, 30 ILCS 575/0.01 et seq.
	Minority-Owned [] Small Business [] (SBA standards) Women-Owned [] Prefer not to disclose [] Veteran-Owned [] Not Applicable []
	How are you certifying? Certificates Attached [] Self-Certifying []
	STATUS OF OWNERSHIP FOR SUBCONTRACTORS
	This information is collected for reporting purposes only. Please check the following that applies to the ownership of subcontractors.
	Minority-Owned [] Small Business [] (SBA standards) Women-Owned [] Prefer not to disclose [] Veteran-Owned [] Not Applicable [] Disabled-Owned []

3) AUTHORIZED TO DO BUSINESS IN ILLINOIS: Yes [U No []

The Bidder is authorized to do business in the State of Illinois.

4) ELIGIBILE TO ENTER INTO PUBLIC CONTRACTS: Yes [Y No []

The Bidder is eligible to enter into public contracts, and is not barred from contracting with any unit of state or local government as a result of a violation of either Section 33E-3, or 33E-4 of the Illinois Criminal Code, or of any similar offense of "bid-rigging" or "bid-rotating" of any state or of the United States.

5) SEXUAL HARASSMENT POLICY COMPLIANT: Yes [] No []

Please be advised that Public Act 87-1257, effective July 1, 1993, 775 ILCS 5/2-105 (A) has been amended to provide that every party to a public contract must have a written sexual harassment policy in place in full compliance with 775 ILCS 5/2-105 (A) (4) and includes, at a minimum, the following information:

(I) the illegality of sexual harassment; (II) the definition of sexual harassment under State law; (III) a description of sexual harassment, utilizing examples; (IV) the vendor's internal complaint process including penalties; (V) the legal recourse, investigative and complaint process available through the Department of Human Rights (the "Department") and the Human Rights Commission (the "Commission"); (VI) directions on how to contact the Department and Commission; and (VII) protection against retaliation as provided by Section 6-101 of the Act. (Illinois Human Rights Act). (emphasis added). Pursuant to 775 ILCS 5/1-103 (M) (2002), a "public contract" includes "...every contract to which the State, any of its political subdivisions or any municipal corporation is a party."

6) EQUAL EMPLOYMENT OPPORTUNITY COMPLIANT: Yes [] No []

During the performance of this Project, Bidder agrees to comply with the "Illinois Human Rights Act", 775 ILCS Title 5 and the Rules and Regulations of the Illinois Department of Human Rights published at 44 Illinois Administrative Code Section 750, et seq.

The Bidder shall:

(I) not discriminate against any employee or applicant for employment because of race, color, religion, sex, marital status, national origin or ancestry, age, or physical or mental handicap unrelated to ability, or an unfavorable discharge from military service; (II) examine all job classifications to determine if minority persons or women are underutilized and will take appropriate affirmative action to rectify any such underutilization; (III) ensure all solicitations or advertisements for employees placed by it or on its behalf, it will state that all applicants will be afforded equal opportunity without discrimination because of race, color, religion, sex, marital status, national origin or ancestry, age, or physical or mental handicap unrelated to ability, or an unfavorable discharge from military service; (IV) send to each labor organization or representative of workers with which it has or is bound by a collective bargaining or other agreement or understanding, a notice advising such labor organization or representative of the Vendor's obligations under the Illinois Human Rights Act and Department's Rules and Regulations for Public Contract; (V) submit reports as required by the Department's Rules and Regulations for Public Contracts, furnish all relevant information as may from time to time be requested by the Department or the contracting agency, and in all respects comply with the Illinois Human Rights Act and Department's Rules and Regulations for Public Contracts; (VI) permit access to all relevant books, records, accounts and work sites by personnel of the contracting agency and Department for purposes of investigation to ascertain compliance with the Illinois Human Rights Act and

Department's Rules and Regulations for Public Contracts; and (VII) include verbatim or by reference the provisions of this Equal Employment Opportunity Clause in every subcontract it awards under which any portion of this Agreement obligations are undertaken or assumed, so that such provisions will be binding upon such subcontractor.

In the same manner as the other provisions of this Agreement, the Bidder will be liable for compliance with applicable provisions of this clause by such subcontractors; and further it will promptly notify the contracting agency and the Department in the event any subcontractor fails or refuses to comply therewith. In addition, the Bidder will not utilize any subcontractor declared by the Illinois Human Rights Department to be ineligible for contracts or subcontracts with the State of Illinois or any of its political subdivisions or municipal corporations.

"Subcontract" means any agreement, arrangement or understanding, written or otherwise, between the Bidder and any person under which any portion of the Bidder's obligations under one or more public contracts is performed, undertaken or assumed; the term "subcontract", however, shall not include any agreement, arrangement or understanding in which the parties stand in the relationship of an employer and an employee, or between a Bidder or other organization and its customers.

In the event of the Bidder's noncompliance with any provision of this Equal Employment Opportunity Clause, the Illinois Human Right Act, or the Rules and Regulations for Public Contracts of the Department of Human Rights the Bidder may be declared non-responsible and therefore ineligible for future contracts or subcontracts with the State of Illinois or any of its political subdivisions or municipal corporations, and this agreement may be canceled or avoided in whole or in part, and such other sanctions or penalties may be imposed or remedies involved as provided by statute or regulation.

7) PREVAILING WAGE COMPLIANCE: Yes [// No []

In the manner and to the extent required by law, this bid is subject to the Illinois Prevailing Wage Act and to all laws governing the payment of wages to laborers, workers and mechanics of a Bidder or any subcontractor of a Bidder bound to this agreement who is performing services covered by this contract. If awarded the Contract, per 820 ILCS 130 et seq. as amended, Bidder shall pay not less than the prevailing hourly rate of wages, the generally prevailing rate of hourly wages for legal holiday and overtime work, and the prevailing hourly rate for welfare and other benefits as determined by the Illinois Department of Labor or the Village and as set forth in the schedule of prevailing wages for this contract to all laborers, workers and mechanics performing work under this contract (available at https://www2.illinois.gov/idol/Laws-Rules/CONMED/Pages/Rates.aspx).

The undersigned Bidder further stipulates and certifies that it has maintained a satisfactory record of Prevailing Wage Act compliance with no significant Prevailing Wage Act violations for the past three (3) years.

Certified Payroll. The Illinois Prevailing Wage Act requires any contractor and each subcontractor who participates in public works to file with the Illinois Department of Labor (IDOL) certified payroll for those calendar months during which work on a public works project has occurred. The Act requires certified payroll to be filed with IDOL no later than the 15th day of each calendar month for the immediately preceding month through the Illinois Prevailing Wage Portal—an electronic database IDOL has established for collecting and retaining certified payroll. The Portal may be accessed using this link: https://www2.illinois.gov/idol/Laws-Rules/CONMED/Pages/certifiedtranscriptofpayroll.aspx. The Village reserves the right to withhold payment due to Contractor until Contractor and its subcontractors display compliance with this provision of the Act.

8) EMPLOYMENT OF ILLINOIS WORKERS ON PUBLIC WORKS ACT: Yes [] No []

In the manner and to the extent required by law, this ITB/RFP is subject to the Employment of Illinois Workers on Public Works Act (30 ILCS 570/0.01 et seq.). If awarded the Contract, per 820 ILCS 130 et seq. as amended, and if the Employment of Illinois Workers on Public Works Act (30 ILCS 570/0.01) is in effect, Bidder shall maintain full compliance with its requirements.

9)	PARTICIPATION IN APPRENTICESHIP AND TRAINING PROGRAM:	Yes [No	o [
•	The state of the s	162 [A] 140	,

Bidder participates in apprenticeship and training programs applicable to the work to be performed on the project, which are approved by and registered with the United States Department of Labor's Office of Apprenticeship.

Name of A&T Program:	see attacked	
Brief Description of Program:		
	0	

10) TAX COMPLIANT: Yes [No []

Bidder is current in the payment of any tax administered by the Illinois Department of Revenue, or if it is not: (a) it is contesting its liability for the tax or the amount of tax in accordance with procedures established by the appropriate Revenue Act; or (b) it has entered into an agreement with the Department of Revenue for payment of all taxes due and is currently in compliance with that agreement.

AUTHORIZATION & SIGNATURE:

I certify that I am authorized to execute this Certificate of Compliance on behalf of the Bidder set forth on the Bidder Summary Sheet, that I have personal knowledge of all the information set forth herein and that all statements, representations, that the bid is genuine and not collusive, and information provided in or with this Certificate are true and accurate.

The undersigned, having become familiar with the Project specified in this bid, proposes to provide and furnish all of the labor, materials, necessary tools, expendable equipment and all utility and transportation services necessary to perform and complete in a workmanlike manner all of the work required for the Project.

ACKNOWLEDGED AND AGREED TO:
Vila Chant
Signature of Authorized Officer
Name of Authorized Officer
Title Title
3/04 US Date

ITB #25-013

G & M CEMENT CONSTRUCTION, INC.

Specializing in Residential & Commercial Concrete Construction

58 West Commercial Road

Addison, IL 60101

(630) 628-6208 Fax: (630) 628-6209

We are a participant of an approved apprenticeship training program.

Following is a list of union labor to be used on this project and their certification. Also you will find a copy of their certificates.

DuPage County Cement Masons Fringe Benefit Funds (local 803)

Bureau of Apprenticeship & Training Certificate of Registration

For the Trade of: Cement Mason

DuPage County Cement Masons' Local #803 Joint Apprenticeship Committe, Villa Park, Illinois.

Laborer's Pension & Welfare Funds for Chicago and Vicinity

Office of Apprenticeship Training, Employer and Labor Services Bureau of Apprenticeship and

Training Certificate of Registration

For the Trade of: Construction Craft Laborer

Chicagoland Laborers' JATC, Carol Stream, IL

Local 731 IB of T Excavating Paving Welfare-Pension Funds

Office of Apprenticeship Training, Employer and Labor Services Bureau of Apprenticeship and

Training Certificate of Registration

For the Trade of: Construction Driver

International Brotherhood of Teamsters, Joint Council No. 25 Training Fund

Cement Mason's Union, Local 502 Savings Fund, Welfare, Pension & Apprentice, Educational & Training Trust Funds

Bureau of Apprenticeship & Training Certificate of Registration

For the Trade of: Cement Mason

Cement Masons' Area Joint Apprenticeship & Cement Masons Union Loc. No. 502, Bellwood, IL

Midwest Operating Engineers Fringe Benefit Funds IUOE Local 150

Office of Apprenticeship Training, Employer and Labor Services Bureau of Apprenticeship and

Training Certificate of Registration

For the Trade of: Operating Engineer

Operating Engineers Local #150, Plainfield, IL

And States Department of Aduly.

Bureau of Apprenticeship and Training Certificate of Registration

DU PAGE COUNTY CEMENT MASONS' LOCAL #803 JOINT APPRENTICESHIP COMMITTEE VILLA PARK, ILLINOIS

FOR THE TRADE OF: CEMENT MASON

Registered as part of the Kalional Apprenticeship Program in accordance with the basic standards of apprenticeship established by the Secretary of Babor an melangeri

Sourchary of Godar

James D'lan Ede

Director, Bureau of Appreniuschap and Iranions

015-0492

PREVISED: FEBRUARY 10, 1989

OCTOBER 12, 1955

Registration Ma

iked States Aepartm

Office of Apprenticeship Araining, Huplayer and Yakor Services Dureau of Apprentices hip and Training

Certificate of Registration

Operating Engineers Local #150 Plainfield, Illinois Aor the Trade of Operating Engineer

Registered as part of the Kational Apprenticeship Program

in accordance with the basic standards of apprenticeship established by the Secretary of Babor

S.C. chas

Advinishment, Agamentinaship Iranining, Empologic and Bi

Office of Apprenticeship Araining, Employer and Yahor Sertifices States Bepartment of Qureau of Apprenticeship and Araining

Chicagoland Laborers, J.A. 7.C.
Chicagoland Laborers, J.H. 7.C.
Carol Stream, Illinois
gos the Trade-Construction Craft Laborer

Registered as part of the Kational Apprenticeship Program in accordance with the basic standards of apprenticeship established by the Secretary of Babor

April 12, 1999

Dale REVISED August 13, 2004

11 0.17990001

Registration 20.

THEOR VOIDE

Act chas

Swertlary of Enter

Them trist when Topmon there his Train ing ! we chape and !

States Department of Falling

Bureau of Apprenticeship and Training Certificate of Registration

CEMENT MASONS' AREA JOINT APPRENTICESHIP & CEMENT MASONS UNION LOC. NO. 502 BELLWOOD, ILLINOIS

FOR THE TRADE OF: CEMENT MASON

Registered as part of the National Apprenticeship Program in accordance with the basic standards of apprenticeship established by the Secretary of Babor a. metangai

Secretary of Babor

James I Van Ech.

Director, Bureau of Reportable whip and Indiaing

REFERENCES

Provide three (3) references for which your organization has performed similar work.

Bidder's Name:	MM Comond Construction
	(Enter Name of Business Organization)
1. ORGANIZATION	Village of Jon band
ADDRESS	255 E. WISON ON
PHONE NUMBER	630-4/64-6640
CONTACT PERSON	Jan Dixon
YEAR OF PROJECT	2019 - Voudes
2. ORGANIZATION	Ulloger Applican
ADDRESS	I Freendshep P 42a
PHONE NUMBER	620-693-7553
CONTACT PERSON	Mile encineer
YEAR OF PROJECT	Vanues-cb7
3. ORGANIZATION	Lecy of Naposville
ADDRESS	1/ou S. Fagle St
PHONE NUMBER	6-30-918-5049
CONTACT PERSON	Dog- maico morino
YEAR OF PROJECT	Vorioce